OOOOOOOOOOOOOOOOOOOOOO
OH139@ ALBE2E L — RO
OOOOOOOOOOOOOOOOOOOOOO

bfadFE 2 H 168 (WK)
FRI9EHFO O ~ FAr1 1825305
E B BKBRXoH ¥BRA XTI

Lt ($@E4A) 101 ~ 103 3 &
A ($i#E4) 301 ~ 333 33 &
A R &) 501 ~ 5514 54 %
h W 701 ~ 762 62 &

N 152 &

B s % F 2101 ~ 2708 27 &

o Hi 179348

MEMANO LR ZKIIEERERTHTHTT .



No| R | BME | AH [ e 6% | @ | F | E e g E
101|&2»E0 (L 7000 50l 4l 20000 Qyi | rmEy | s | 1| mee
102|—#v 7k L7oof 2500 28l s7soof DBy | || @i
103|# 1B Lroo| 2.0 7f ursof DEIREEC ey | oo by | e




Nl AR | B[O AR |E|ma| 6% | R D E e B R K R
01[Fm—mEAnen | 4300 — | 30.0] 10|  300.0] Sopn | FTFY| 8 | 1| miE
302| AR 35000 — | 2500 2l 0.0 Soph | TE| 3| 1| W
303| 3000 — | 2500 3l 50.0) S | TTEO| s | 1| wmeE
304[EAMR 1 26500 — | 2.0 4| 100.0) S5 | vE| s | 1| Wi
305 | AL 2 2,600 — | 30.00 2| 60.0] S | TTEO| 3| 1| mruE
306 | 2950 — | 30.0 2| 60.0] m . | tTH [ 3| 1| mAE
307|tr a7 2 0 21000 — [ 1ol Y eao| S |wrren| 3 [ 1| mee
308 20000 — | 25.0 25| 6250 S | w3 | 1| wruE
309|585 Ls0o| — | 2500 12f 3000 Dy | var |8 | 1| e
310{L 280 L800| — | 25.0] 4] 1000 Loy | Aty | s | 1| e
311 f 1.650] — | 250 51| L2TR 0| Gomx | W[ 3 | 1| smeE
312 | fFd Lesol — | 3000 8| 20.0] DS | v | s | 1| wmeE
33| B BED 1600 — | 2s.0l 41| L025.0] Sppa | AN 8 | 1| e
314D D £ < Leool — [ 20l 1 et Sk | My | 8 | 1| meE
315 @M B L350 — | 2500 22f  850.0] Sy | v | 8 | 1| memE
S16[BAMRA L300 — | 2500 12| 30000 Goph | w8 | 0| s
317| RARB L250] — | 30.00 5| 150.0] Soph | | 3 | 2| s
318 |3 C Lol — | 2500 80| 700 DS | v | s | 1| me
31| RATRC L2ool — | s0.0f 5| 1s0.0] S | v | o3 | 2| e
S20|RAM2 — A L1sof — | s0.0f 5| 0.0l Goph | w3 | 2| e
21|55 KE+ 1L100| — | 30.0] o] B00.0| xmwm | v | 3| 1| s
32| RAM2 - B Losol — | 3000 8| 24000 Goph | w8 | 2| mev
323 ()1l 1 Loso| — | 2500 6| 1000 Soph | w8 | 2| mevE
324| M 1 L000| — | 25.0] 12| 300.0] Lok | vUE | 3| 2| e
325|148 2 Loool — | 2.0l 5| 12500 Lo | w8 | 2| e
326 | i — ¢ 090 — [ o021 B mes| NREE L a3 | 1| s
327| WA 2 930 — | 25.0| 8| 2000 Dopx | | 8| 2| meE
328|514 3 900 — | 300 28] sa0.0f "EEFE | wras | o3| 2| mpum
309|9M A T 850 — | 25.0] 88| 1.700.0| DoiS | vrw | 8 | 2| meE




x (&

i)

N2E A

g AH 1= ooz | e | EE|w
i 3 2.0 S | H |3
#A 144 30. 0 DERE N v | 3

2| Bl 1 C & 30. 0 x @ | |
W B 30.0 O | TH | 3| 2




=

%)

No | # ER | B [0l AR (Mg naescm| 4 g | s o on % % R
501 [zl aeny | 55000 — | 30.0[ 1 3.0 Sppa | v | 3| 1| mmE
s02(47asm1-3 | 28000 = | 0.0 8| 2a0.0f EAE| v | 3 | 1| mess
503| 4 26000 = | 30.0] 2l 600 Gyex | H | 3| 1| s
04[25H1 -4 25500 = | s0.0f 10 300 0 RESE [wiy| 3 | 1| mmsm
0afwremaEoA | 22500 3| 30,00 9| 270.0| mrvia [ WA 3 | 2 | ks
so6| o LHVIA | 22000 — | s0.0] 200 000 ok | vw | 3| 1| wmeE
07|H—D 26 Cvooo| - | so| s 2a00 Ooiix - 31| W
508|H—D 5 8 21000 = | s0.0f 7| 2100 S - 31| meE
509 | SR 21000 = | 3000 6 1s0.0] Sopfh | vwm | 3| 1| mev
510|420 20000 = | 30.0f 6 1s0.0] Onp | vwwm | 3| 1| mem
S| BEY 7 Losol — | so.0f 18| sd0.0f S5 - 3L | mNE
Sle|feaiko LB | 1 900| — | 30.0] 20 6o0.0f RRE | e | 3| 1| mwE
513|803 Looo| — | 30.0] tof 300.0f "SESE| vy | 3| 1| meu
514|%8 — 4 Lssol — | s0.0f 7| 2100 SEAE| e | 3 | 1| me
5154 -5 9 6 L8so) — [ s0.0f 6| 180.0] O = | 3| 1| meuE
516/4%—T 9 5 Lesof — | s0.0f 4 r200f 25 - 3| | mem
BIT| GO LHIC | 1,800 — | 30.0] 20 600.0] 2. | vr® | 3| 1| wmpE
518 15%4 /28 1.s00| 5 | so.of 20| 6000 PEEE | owrwm | 3| 1] mew
519|1%4./29 1.8oo| 5 | 0.0 10| 3000 PESEE | wray | o3| 1| mewie
520 |51 8 5 1800l — | s0.0f 8l ad00f OS5 | w3 | 1| meE
521|4—S 32 Lsoof — [ s0.0f 6l 180.0] O 3ol o] e
522 —-G 30 L80o| — | so.of 4] 12000 S - 31| mpnE
528 [FEAEO LD | 17500 — | 30.0] 200 6000 mh | trH | 3| 1| mpE
524|175/ 1 L7sof 5 | 30.0f 10| 300.0f DAEE L w3 | 1| mwi
525{ 175/ 2 L7so] 5| 30,00 o] 300.0f IRl werwy | o3| 1| mee
26134 /27 L7so| 5 | s0.0f 5| 1so.0f PERE L wrw | o3 | 1| wmee
SAT|RAOUMIIE | 1700 = | 3000 200 600.0] R | vrwm | 3| 1| meE
38|21 69| 5 | so ol | wasof RESEA wras | 3 | 1| me
59| AEO LEIIF | 1650) — | 300/ 200 6000 = | vrw | 3| 1| mpuE
s30[@remzEoB | 16500 3 | 0.0 20|  600.0f LEEE o] 3 | 2 | mEER
531 | AL L630] = | 3000 200 6000 Gopn | tr® | 3| 1| mpE




G

= | SH
*

No| o ED | B sl AE | e s | e [ lem| ko B[R oK R
32| EAHED L650f 3 | so.of 7| 21000) R EE [ ey | 3 | 2 | mmEm
333k 2 Lesol 5 | sool 1 msof REMEA L wrw [ s | 1| s
534|3EAE - HIERK 1600 = | 30.0f 15| 450.0] Dy | vrE | 3 | 1| mevi
535 | % HENa 1 2 Leoof = | soof 7] ozioo0f SO - s | mm
336[® 10— 1 Lsoo| = | se.0f 7 w00 EEEl vw | 3 | 1| me
537\ B 1% Laso| = | S ses| wmmw | vrw | 3 | 1| me
538w i Lasol = | Seal Y sws| smmw | orw | o3 | 1| mme
5395+ Ly Lo = | o 59.5 mmw | vy | o3 | 1| mwE
30| B L L] = | 300 Sl anes| xmmw | orwr | o3 | 1| mev
541 | — AU 1L200) — | 3000 30| 90000 Soph | tTH | 3 | 1| wmpvE
542|908 L2oo| - | 2400 o] za00] RUE [wmvo| s | 2| mpes
543|i%ER L2oo| = | so0f 6| wsoo] 25 | w3 | 2| wmww
544|380 1 L2oof = | s0.0 5| 1s0.0f Opp5 | e | 3 | 2| meew
545 | 431 2 oo~ | S0 o] DuB [ s | 2| mees
546 | B Lioof = | soof el oaseof S5 [ vrw | 3| 2| we
547|4 2 B 1osol = | s0.0f 20| s00.0f Goph | vrw | 3 | 2| meu
548) 2 %6 L0s0f = | s0.0f 30| g00.0f oS | - 3| 2| me
s19[E LFEH L 5 9500 = | 0.0/ s0|  900.0| Aimmsk | vrE | 3 | 2| wpue
550 | B IIE 9 3 930 = | s0.0f a2f 300l Qynx | vw | 3|z | wew
s5l[EOLE# 1 5 900 ~ | 0.0/ 40| 12000 x| e | 3| 2| mwe
552 [#2 - 2 350 = | s0.0f 20 6000 EEEN e | 3 | 2| mp
553 |5 2 800 — | s0.0] 10| 30000 Gopx | e | 3|z | me
55443 — 3 mo| ~ | soof sof oeo0.of NESFE| vw | s | | s




Yo B | | AB (we(mesc| &z B ea | 2R el e e s | s
TO1 | Fs A 300 # | 2500 o om0 GOux | B - 3| 1| wmmE
02| 3 LM 28000 B | 250 3 ool Qi | B - 3| 1| wmrE
703 |He 2 — B A 1. 100 20,00 30[ goo.of S | Am| e | 3| 1| mnE
04| 1 %0 7tk Lwoof # [ 2500 4 w000 2 | ®| - 3| 1| mei
705 | -4 930| # | 0.0 15 as0.0| 5% & | - 3| | wmwE
06|12 g00| # | 2000 15| 000 NERF | &m| me | 3| 1| mwE
07|R 3 25#KEHR3 850 #& | 30.0[ 31 930. 0| i | & - 3 2| mNE
08| ety soof # | TR Bl wsnol RE |m| - | 2|1 ]| mem
709 v 750| B | s0.0f 19 sr0.0| kmmsk | & | - 3 12| wme
T10[# 1 8 6 50l B | ozsof 4l w00.0f Ons | & e 23| 2| wmiE
TH|BEA3 5 00| # | 300 17l om0 PE0F | s | - 3| 2| weu
T12|HA o0 # | A0 M w0 Si5 [ m| - | s |re| mem
T13| Ak 650 # | 200 5| w00.0f On | B - 3| 2| mmE
714 | Firts 3s0| # | 30.0] 200 600.0f Ot [ &m| ~ | 3 [1i~4] wmem
TI5 | #hs 7 7 370 # | 0.0 28 s40.0| Awmm | & | - 3 [wen| RpuE
16| T A'S frH b sof # | RN M wesss| 255 | & - | 3| 2| wmem
17| &#2 09 50 # | 16.0f 4 60| x| & | ma | 23 [mes| mpe
TI8| 1 A S HigE b a0 # | 200 M noooy DS | m| - | s || mmm
T19| b aoof [ 1FO M ates D5B | a | - | s | 2| wmeem
720| # 45 B soof 6 [ TR B s D05 | m| - | 3| 4| mew
121 | &b C oso # | DO T80 asaal DUB fwm| - | s | 4| mem
m|emTemebnez | w0 # | S0 T 2ena) DS & - | 8| 2| mes
T23|B%3 01 Lasol g | 3000 10 s00.0) DS | &w| - 3| 1| mwE
To4| RIL—%H Lsol # | s0.of 9 120 Sun [ B - 3| 1| mev
BB 200 Lol # | 3000 2l 00l O | w0 - 3| 1| mwE
726|449 980 ¥ | s0.0f 20| 6000 Rn | &m| - 2 | 1| mE
T 0 1 950| ¥ | 20.0f 10| 2000 o5 [ &m| - 3| 1| wmevE
T28| %8 950 # | 2.0 5| 10l Suh | EB| - 301 maE
T9MAEL 95 sso| ¥ | s0.0f 2 s0.0| Op% | B| - 31| wmmE
T30 (M 1 o 850 ¥ | so.0f 15| 450.0| Luh | & | e | 3| 1| me
31|~ s50| # | 300 5 1s0.0] DR g | - 3 1| wmee




No| R |G R AR (W] 6oz (S| meE | am| e e 6| s
3|1 7 0 osof 5 | S0 N mes| e (& | - | 5 (12| mee
733 | K — Ak 630 # | s0.0f 0] 900.0] Suh | & | - 3| 1| movE
T34 ¥ 7 L8 630 # | 30.0f 10| s00.0] Sps | &m| vw | 3| 1| mmE
T35| AW 600 # | 250/ 30| 700 BB | m| - 2 |2 | wmwE
736 |tk C 6oof % | 300 | om0l amew | s | - | 3| 1| wmme
Wwiles soo| # | 30.0f 10| s00.0 WAERTF | & ma | 3| 1| mme
T38| 2 A ol w | Dol U ose Suh [ w | - | s |vz| mem
TIMEL 0 5000 ¥ | s0.of 0] os000f S5 | A | - 3|12 wmmmE
7404 41065 soof 8 | ool 3 ool DA [wm| - | s |1z mmm
| 1A S HHE A ol ¢ | 20 L e Duh s | - | s || mee
P RE ST o[ ¥ | oVl A o] ames | m | - s |2 | mme
3| T ASHEE sof g | o) Y ames) DB [ w | - | s || mmm
T4 |34 a0 % | s0.0] 1| s000 xw | =m| me | 3| 2| mem
7451 B w000 8| o200l 12l w00 D5 &m0 - 2 e wmemi
TA6|# 2% 4 0 & 390 ¥ | 2s0f 15| ool D5 | A - 3 |23 wmwm
B3 - 8 wo[ g | SLN M o] smem | m | — |3 [23] mees
Tt 2 — 3 ol g [ 00O ggne| swew | s - | s |12 wmeE
19| A SHE - FH sof g | D M v 255 s | - | 5|2 | mem
70| Br Ak A soof g | A0 B nesn| BuR |w | - | s | 2| mem
751 | &4 B soof g | 20 B s 255 |w| - | s | 4| wmem
52| ¥ B o0 | b Bl oo DB | w| - | 5| o] mem
753 B o # | 0T wn| amem | w | - | 3| 2| mmn
T T A S HIEEY o0 g | B s DB | w| - | s | e mem
55| &4 C osof g [ 200 O e 2RE | m | - | s | 4| wmem
756 | 4 ol g | SN A s 25B |m| - | s | e | mem
BT C 2200 ¥ | 25.0f 57 nazso| D5 | w| - 2| 2| mE
58| 1 AS HIEEY B oo B | A Y el DB | a| - | s | o] wmmm
T59|M11 0 9 ssof 98 | 2000 15| 000 DS | W ome | 3| 2| mem
760| & 600 8 | 20.0f 57 L140.0] S5 | A| - 3| 1| wme
61| %% s90f = [ 0] | ol 25 |aw| - | s |2 mem
762|= % o s | ) B s BB [ w| - | s | 2| me




ft £ & &)

E

No w8 | AR | masc| w o | e | DT I i
2001 |~ & EAL L& 31000 — | 25.00 6l 150.0f 2 B | - |12
2102 | —~HEH A2 3 2480 — [ 25.0] 12f  300.0] Z . [y 3 |1

Wit x (B @) R

=

ch

= |

No w0 | BE Bl AR (e wox | e SR Dem e s B % R
2301 |[SEBEUH4 R 13000 3 [ 30.0f 5| 1s0.0f Dp5 [srsr| 8 8
2302 | 2 %M — 100l — | 300 16| 480.0) 2R | ®E | 3 T
23032 KY T~ 6 roso| — [ 30T aiss| BOR fow| s | o | e

J ® &R&RAR) R

R

No. i Fl B |Gl AH | 8| B e & | R | e | KM E L
2501 (M S 2 1 B 19000 3 | 80.0] 5| 150.0| o [#13NU| 3 HE 12 5 12
2502 [T 2 5 18500 3 [ 200 7 10.0f S5 |1 H| 3 HE UL 5 1R
2503 |M%E A Y7 38 13000 3 [ 2500 6 150,00 DS | @A | 3 R 15
2504 | it ¥ 7 2900 — | 5ol Y sar| BB |ww| o3 HE B 518
2505 MBS A H 5 5 36000 3 | 20,00 5[ 1000 Oppo [#rivl 3 REE
2506 |74 7 & 30500 3 | 3000 4] 120.0] S a3 HEE L A
2507 [EAHRED 8B 32000 3 | 2500 14| 850.0] G5 [#ir Y| 3 BEV I
2508 | MBS 56 5 32000 8 | 2500 10f  250.0] Sypn [T #| 3 HE Y 8
2509|HE D9 B 32000 3 | 2500 8] 2000 Spp | oA 3 B
2510|257 5/ 7 2770 ~ | Sl Y sas| BR[| 3 HE R 6515
25112 KMEY T~ | 1580 — | 0.0 6 180.0 & |#13M 0| 3 B V5 U
2512| 2 %25 H - 4 Laso| - | 3%l 4 snsl BE i 3 HE 11
2513| 2 AML5H - 3 s — 3080 T saasl BUR b s HE 1
2514 | 2 KMEET - 2 L470| — | 30.0] 5| 150.0) 278 | 2| 3 VL

o

3




No | B ED | B[R AL R |HIS R Tl am |1

Ek:
w

i 58 I
2701| 3 At LA B I (T PR T A
02 (—HES5 17 | 2470 | 20 7 wmmo| A | = |2
2103|~2%EMm 116 | 2000 ¥ | 25.00 5| 1250 g | W| - |23
2704| —~HEH 2 6 2 Losof % [ 250 5| om0l 2Rl W[ = | 3
2705| ~ % EH 9 2 Lozo| ¥ | 2aof r0f 200l 2R | M| - | 2
2706| 3 4 6 8 1780 # | 25.0f 12| s00.0] 2% | W - |2
2707 W% N 630 # | 20| 50l nesool DSl s | - |
2708 401258 1 2 3 a0 g [ 0N A s R E | m| - |




